1 B Al

O/NBELT-DH
IB6: | & 2E T & T =
1|k M 6 |03y I7T 9. 65
2 |,k T 5 [EFEERsZT 9.30
3 [k P 6 |wrrzazs—vsssHEE  [9.20
4 |PHEE RO 5 |o3&kjr T 9.15
5 |HH TH 6 |03y 77 9. 05
6 |FTH gk 4 |BkBEHR~ Yy N2 TT 8.80
7 |fEEE ERK 5 |ER~y 7T 8. 55
8 | o 4 |HREEK~ Y b2 T T 8.50
9 TR Wk 4 |MSC 8.35
10 |[fAA fEE 6 |Vi'slktr 77 8.30
10 | A% DB 3 |MSC 8. 30
OhFEELF-EHE
IBGL (& 4 2E Bt B 7 R
1 |BFERT F2 |evisrzxk—vsrs7HEH  [8.70
2 | HhE F2 |erisrzs—vss7BALE  [8.35
3 | &HE H 2 |wrrorzs—vrorBAE  [8.20
4 |RE e 2 |evisazk—yrs7H EE  |7.50
ONFEELF-EHE
IBGL |[& 4 2E BT B B =
1 INERTAE 5 |7AU—kEy T 9.70
2 TR 4 |TARY— Ky 7T 9.35
3 |k & 5 |erroazE—vrs7REALE (8,45
4 |FDI ERe 4 | TRk T7 8. 40
5 [FIHE WAt 4 |bTRAEERILS 8. 40
6 |UU>WEET- 4 |errgrzE—vrs7HEE |8.30
7 |HT HX 5 |7AU—lkgr 77 8.25
HigE J54E 3 |bTRhAKEILS 8.25
9 |ga AR HEIN 3 |erroazE—vrs7HELE (8,25
10 |gaAK  /hFe HAaMk~y by Z 7 8.10




O FELF-BUHE

B (& 4 2E BT B & =
1|/ R 1 |erronzs—vss7HETH  [9.60
2 |fHE Rk F 1 |errsnzs—vrs7HEE  [9.40
3 [AmE = F1 |errosazs—vss7H K [8.00
O /NFELF-BUFE
g6 || & 2E T B B =
1 |kaAk R 6 |HEARMR~ Y ho T T 9. 80
2 &R RH 5 |TARV—KEs TT 9.70
3 |=H ER 6 |7TAV—KEgsTT 9. 60
4 B L 4 TRV KR 5T 9. 00
5 | AEEr 4 | TRY KRS 5T 8. 40
6 |k HIE 5 |HkARME~y o T T 8.00
O /N\EELTF-BUFE/NT
IBG |& 4 2E T B B =
1|8k 34 3| TAV—KEgs T 8. 60
2 |f@ih EkE 2 | TAV—EEgs T 8. 40
3 |ZH ARk 1 | TRV —K#Es 57 8. 20
4 IR K 4 Vi sty 77 8.10
5 A #TY 4 SRR~y N2 T 7.60
6 | s 3 |HkRMER~ Y b T T 7.40
7 |FEfEdrn 2 |BEARMRE~ Y b T 7.20
8 |mH EZFE 2 |BkEEHR~ Y N2 TT 7.20
9 (TP K 4 Y slktpr 57 Xy
10 [l 7 3 |BkBEHR~ Y N2 T T X




